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Answer Sheet

Question No Answer
1) Answer: b
2) Answer: a
3) Answer: d
4) Answer: ¢
5) Answer: a
6) Answer: b
| 7 Answer: ¢
8) Answer: b
9) Answer: ¢
10) Answer: a
11) Answer: ¢
12) Answer: d
13) Answer: b
14)*
15) Answer: a
16) Answer: a
17) Answer: d
18) Answer: C
19) Answer: b




20) Answgr: a
21 )" Answer: ¢
22) Answer: a
23) Answer: b
24) Answer: d
25) Answer: d

*. None of the given options was found to be equivalent to the correct answer.
Accordingly, 1 (one) mark has been awarded to all candidates for this question.
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